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BfL. K 4 i B 2E KK = 50m
1 BAH BKR AMeVELIRIRAE 71N6 2/ 2 1:07.50 32.32  10#% ( 0.55)
2 AL B SAYVIT NG 2/ 7 1:10. 20 33.70 8% ( 0.59)
3 Wik A VASPA=A0F NG 1/ 4 1:17.04 37.41 68k ( 0.64)
4 Il BiE AV E DR /NG 2/ 8 1:19.09 37.70  T#k ( 0.62)
5 Mgl &K J SSERR /5 1/ 2 1:19.15 38.38 9%k ( 0.55)
6 KH Hh AoV RLIRIBRZE /1N 1/ 3 1:19.33 38.50 9k ( 0.59)
T AR J S SiEFH NG 1/ 7 1:20.00 38.26 6% ( 0.59)
8 AA wH VAS VA=Y 3 NG 1/ 5 1:21.70 40.06  4#% ( 0.63)
9 & Ik g JSSHERIIR /15 1/ 1 1:24. 47 39.96  T#k ( 0.56)
10 JIIF§ 3% SAY—F /N5 1/ 6 1:26.99 41.92 6% ( 0.68)

No. 14 BBF 100m &Fjk=F FiE KEH 57.48
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B K 4 T & 2E KK = 50m
1 0 Eifst SAH 13 3/ 4 1:02.35 29.90 9% ( 0.62)
2 A K ZAa—LTE H1 2/ 3 1:06.18 31.87  10#% ( 0.61)
3 HER R FEJES T 3 3/ 3 1:06. 63 32.15  7H% ( 0.63)
4 RpE BN JSSHWHE  Hi2 3/ 2 1:06. 95 3.75 8%k ( 0.62)
5 T 7= 7Z i p A& 12 3/ 1 1:07. 66 32.57  8%% ( 0.61)
6 M J S S{EH i 3/ 5 1:08.09 32.45  9#k ( 0.58)
7 B FEAR I SSERKR 1 3/ 8 1:10. 17 34.38 8k ( 0.65)
8 Al 5 AV E DR ==h] 3/ 6 1:10. 40 33.72  8#% ( 0.56)
9 HE BEE 7Z i p A& ] 2/ 4 1:11.93 34.40 8k ( 0.61)
10 A PIthHE= AM/ALIRIBRAE 2 2/ 5 1:13.22 35.22  4#f% ( 0.55)
11 FKiE#E  EK ANV DR Ml 3/ 7 1:13. 31 35.65  T#k ( 0.56)
12 g Kol Z i p F4E 1 2/ 6 1:13.33 34.45 5% ( 0.65)
13 /By Akt fheviLigde . il 2/ 1 1:15.49 37.23 6% ( 0.60)
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